AAlole AEel e 7HA thg 1
7 e 9 mope] HA2 118 7
k. #e T A4E Bashn 2o
7]_ 32 cm i 71—0]— fe) = f(—]/\]- /\]-O] g]
4L 24em ek, AAo]) A8

M2 9] HEx ] Zoli=?

o)

@ 20 cm @ 25 cm

@ 40 cm B 45 cm

24 cm

® 30 cm



o= 2193 Zol vk P oF o Q 7}
ool M Aot 4 Q 7F e O o] W
Fo A AHstal ek A Q 9 AE9
4ol7k 6em 4w, ¥Hd P 2] B2 F9
dol=?

@ 1lcm @ 2cm

@ 3cm 3 4cm







the 2994 9 0 & 447

_30cm- _
ABCD o Ydsh= & dola 9 o , D
© 3y R Wyt e/ /
ojek. 9 07 9] Hol|? 20 cm 0- o
B
@ 400(10 - 17 V3)cm? @ 400(7 - 4 V3)cm?
® 420(10 - 19 V3)cm? @ 400(100 — 20 V3)cm?

® 410(10 — 21 V3)cm?






0o JolA AZF ABCD £ 1 4 D
Azt o]l1l, AB = 4em, PC = 3cm J / 0.
(0]

olt}, AFZ+E ABPD 7} ¥ O of ¢ !
Aot 9 O 2 9 0 o Hota, & )
AD,CD of gttt 9 07 9 ¥H2]& \
29 B P>-3emC

@ (844v3)cm @ (8—-4V3)cem ® (442v3)cm
@ (4-2v3)cem ® lcm



The 2ol A 5.0ptAB = P gdEu

ot} AB = 4+5(cm), CD = 2cm,

CDLAB, AD = BD & 1, o AB
59 do|& +sfozt, “4/5cem”

@® 5cm @ 5+bem ® 6Gem
@ 6v2cm ® 7em



